BT YR (1/2) YERLB2017/9/25
RIENo. #B37 BIE 2 e
T7ET006020 Yy e b i I Rev.3 %2 | 55 | ®8 | B
HEME |BmavxrmEaal o2
Rev.1
o ET i = B & |approval| 8 &
= = =X

5 & 5 8 % nE fri (@) o E A=h— =% jf'(’:;’?;

1 [17ETc60215 K[EDBAY 1 SUS304TPA

2 |17ETc60216 TIRZ— K 1 SUS304 ®REEE

3 [17ETc60217 )9k 2 SUS304

4 [17ETc60218 JL—k(1) 1 SUS304

5 [17ETc60219 INF (1) 2 EPDM

6 |17ETc60220 INwF(2) 3 EPDM

7 [17ETc60221 TU—k(2) 1 SUS304

8 [17ETc60222 R—RHF 1 SUS304

9 [17ETc60223 Bk F 2 SUS304

10 |1 7ETc 60224 JEAR—XR 1 STKR400

11 [17ETc 60225 ho— 8 SUS304

12 |1 7ETc 60226 HR—k 2 STKR400

13 |1 7ET ¢ 60227 HSEE 1 SUS304TPA

14 [17ETc 60228 Fh iR A F 1 SUS304 NBRY
501 HEtE Y — 4 |[FU—95S F—IVR
502 T bR T 1 |MD—70RZ 17% |HEKA
503 A—RTAD — 1 |TB—300E mEHES REIA
504 BEiRT L 8 |[BPAT10—50—50 CR IX3
505 a=F> 1 |SUTPU20A SCS13A IX3
506 HE 1 |SUTP20A—110 SUS304TP I3
507 R-JLNLT 2 |C—BSCSF20A SUS IX3
508 —v7IL 5 |SUTNP20A SUS304 X3
509 7355 1 |SUPPP20A SCS13A IX3
510 F—-X 1 |C—SUTPT20A SCS13A IR3
511 BE 1 |SUTP20A—335 SUS304TP I3
512 LR 2 |C—SUTPEZ20A SCS13A IX3
513 HRAR)1—LF 8 — 1 |KvD—150 SUS304 BE2FULR|EBFHER

17ETc06020 S EEL=yh MTE ZREYAbxs (BR)FATYY



BT e 2/2 YERH2017/9/25

5% 5 8 % %8 fHE (@) HOH |ZELELE A 5% iﬁf;"if
701 NRAERILE 4 [M12x40 SW.PW,PW,N SUS
702 RETURILE 4 [M8x170 SW.,PW,PW.N SUS
703 RETURILE 4 |M8x190 SW.PW SUS
704 NRAERILE 16 |[M12x35 SW.,PW,PW,.N SUS
705 NRAERILE 8 |[M8x25 SW,PW,PW.N SUS
706 NRAERILE 16 |[M12x35 SW.,PW,PW,.N SUS
707 NRAERILE 4 [IM10%x25 SW.PW SUS
708 NRAERILE 2 IM10x20 SW.PW SUS
709 NRAERILE 4 |[M6x15 SW,PW SUS
710 NRAERILE 4 |M6x20 SW,PW SUS
711 NRAERILE 4 |[M10%x65 SW.PW,PW,N SUS
712 NRAERILE 16 |M8x25 SW,PW,PW.N SUS

17ETc06020 S EEL=yh MTE ZREYAbxs (BR)FATYY



